Corrigé bac 2009 : Anglais LV1
Série STG-ST2S — Métropole

Ces éléments de correction n‘ont qu'une valeur
indicative. lls ne peuvent en aucun cas engager la

responsabilité des autorités académiques, chaqueryu
est souverain.

Baccalauréat Technologigue

Session 2009
ANGLAIS

LANGUE VIVANTE 1

LV1 STG (GSI), STI, ST2S, STL
Durée de I'épreuve : 2 heures — coefficient : 2

LV1 STG (CGRH, CFE, MERCATIQUE)
Durée de I'épreuve : 2 heures — coefficient : 3

STG, ST2S Compréhension : 10 points Expressidhpoints
STI, STL: Compréhension : 12 points ExpressiBmpoints

L'usage de la calculatrice et du dictionnaire astndit.

Sarfraz ManzoonThe Promised Land007
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CORRIGE ANGLAIS LV1 BTn  Séries STG — ST2S 2009

Texte : the promised land
Ne pas sanctionner un oubli de numérotation ouuddbegnets

TOTAL SUR 20 POINTS DIVISE PAR 2

I. General Comprehension (3 x 0.5 = 1.5 points)
A-2 B-2 C-3

II. Detailed Comprehension

A — The following sentences are true (5 x 0.5 = 20ints)
1. 11 1-2 « my parents were nervous about the apneseces of allowing me to watch films
alone... »
2.1 3 « it was Scott who suggested that we skiypscone afternoon and go to the cinema. »
3. 19 « even now | remember the feeling of wondleait surged through me)... »
4. 120 « when my parents were out and | had theséddo myself | would watch other films. »
5.1126-27 « it was the film that convinced metthathing could be better than to be an
American high school student. »

B- Right or Wrong? Justify with a quotation. (5 x 1= 5 points)
1. Wrong — | 6-7 « | readily agreed. »
2. Wrong — | 11 « it was so liberating not to h&waevorry what my father might say. »
3. Wrong — | 15 « the entire cinema was cheering »
4. Right —123 «you have to see that film, mgtai're gonna love it »
5. Wrong — | 31 « on my weekend visits to Lutonrhity | began reading about exchange
programs. »

C- Pick out the expressions showing that (total 2 oints)
1. 11 28-29 - « metal locker » - « prom night » ekeerleader ¢3 x 0.5 = 1.5)
2. 11 29-30 « the possibility that my high schomperience might differ on account of my not
being white did not arise. (1 point)

D- Find the equivalents for (5 x 0.5 = 2.5 points)
1. 12 « it » — watching films alonag¢cept «watch » — accept «watch alope »
2.1 3 « we » — the narrator and Scott
3. 123 «you » — the narrator
4. 124 « my » — the narrator’agcept the narratgr
5. 132 « me » — the narrator

E- Find the synonym for (6 x 0.5 = 3 points)
1.16 « eager »
2. 110 « were not aware of »
3. 114 « packed »
4.1 14 « thrilling »
5.117 « novel »
6. 126 « convinced »

F- Pick out the words showing (3 x 0.5 = 1.5 points
L 28 — « imagined » L 29 — « daydreams » L 33fankasy »

G- Quote the sentence (0.5 point)
L 30-32 — « | became so obsessed...spend a termfanarican high school. »

H- Write down 2 reasons (2 x 0.5 = 1 point)
He broke a rule (1) His parents didn't know whatwas doing (3)
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Baccalauréat STI, STL, ST2S, STG LV1 Session 2009

ANGLAIS

EXPRESSION ECRITE BAREME

LV1:2 SUJETS

STI, STL (16 points) STG, ST2S (20 points)
- 80 mots : 6 points 8 points
- 120 mots : 10 points 12 points

STI, STL / 16 points STG, ST2S / 20 points

80 mots 120 mots 80 mots 120 mots
6 points 10 points 8 points 12 points
Respect de la consigne, 05 05 05 05
nombre de mots
Enchalnement gt ] 5 4 3 5
cohérence des idées
Correction grammaticale 2 3 2 3
Richesse lexicale 1 2 2 2
Bonus (prise de risque) 0,5 0,5 0,5 15
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